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(2) BaCl,
(3) (1)BaCly +K;CO3 = 2KCl + BaCO3 | (2)

BaCO3 + 2HCI = BaCl, + HyO0 + CO, +
(4) (1) A8 (2) FRENAERRFTIMA HCl BREIEN K, COs FHERER
(5) e\ HCl Bt , BIIA BaCl, MREREE , £AUE SO
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fi# 1% Zn [REN x.

Zn + H,S0, =7ZnSO4 + Hy 1
56 2

04¢g
56 x 11.2g
—=—,2z=112g, = 1 = .
5 0dg T g, m% 16.95¢ x 100% = 68%

fi#: m(CuO) =10g x (1 —20%) = 8¢, i®4ER CuREN .
H; + CuO = Cu + H,O

80 64
8g x
80 8g

6—4—?,m:6.4g,n20.1m01,
& : &£k Cu ¥ERYE79 0.1 mol,

(1) % 2SNk N HNO; ¥IREN = ;
3Fe 4 8HNO; = 3Fe(NO3); + 2NO 1 + 4H,0
3 8

0.15 T
1
E = 05—11101 , = 0.4 mol,
8 T
% SIRMNAEERRIRAVERZ 0.4 mol,
(2) i REFNOYIREN Ny ;

3Fe 4 8HNO;3; = 3Fe(NO3); + 2NO 1 + 4H,0

3 2

0.15 ]

3 0.15mol

- = mo , ¥y = 0.1 mol,

2 Yy

Z &R NO 5F8090.1mol x Ny = 0.1Ny,
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(3) f# : REBZKHYIRIEN 2 ;
3Fe + 8HNO; = 3Fe(NOs); + 2NO 1 + 4H, O

3 4
0.15 z
é _ 0.15mol 2= 0.2 mol,

4 z

n(HzO0) = 0.2 mol , m(H20) = 0.2 mol x 18 g/mol = 3.6 g,
& ERUKEHIRRIES 3.6 g,



